
REVISIONREVISION
UNITS 4/5/6UNITS 4/5/6

Name-Surname : ………………..………………                       Class – Number : …………… /…………..

1

1. Read the text and choose the best option.

The hippo is one of the largest mammals on Earth. 
Male hippos weigh 1500 to 2000 kilograms, and 
females weigh 1300 to 1800 kilograms. Zambia and 
Tanzania in Africa have the 
largest populations of hippos. 
Most people think that hippos 
eat meat because they're so 
large. However, hippos are 
herbivores, and they eat short 
grasses and fruit. They live in 
the slow-moving rivers and lakes of Africa. Hippos 
can hear, see, and breathe while most of their body is 
underwater.

According to the text above, which of the following is
NOT correct? 

A) Most people think hippos are carnivores, but they are not. 
B) Female hippos weigh more than 2 tons.
C) They mostly live in rivers and lakes of Zambia and Tanzania.
D) Hippos are one of the enormous animals on land.

3. Read the statements and choose the best option.

•	 It runs fast. It is a huge bird, but it can’t fly.
•	 It is the largest member of the cat family. It has 

black and orange striped fur.
•	 It has got a very long neck. It is the world's 

tallest living land animal.

Which of the following does NOT match with one of the
sentences above?

A)

C)

B)

D)

Chameleons are reptiles, and they mostly live in the 
rainforests and deserts in Africa. They have the ability to 
change their color. They have long and sticky tongues. 
Chameleons generally eat insects. Some larger chameleons 
also eat small birds and other 
lizards. They are not harmful to 
humans. They spend most of 
their time up in the trees.

2. Read the text and choose the best option.

Which of the following does NOT have an answer in the 
text above?

A) What are their characteristics?
B) What do chameleons eat?
C) Why are they not harmful to humans?
D) Where do they live?

4. Read the statements and choose the best option.

Watching too much TV is harmful to you because - - - -.

   I. it can lead to obesity, sleep problems, and 
      chronic neck and back problems
  II. you learn about different cultures and 
      countries through television
 III. TV makes people lazy
 IV. too much screen time can take children away 
       from reading, studying, and learning activities

Which of the following does NOT complete the sentence 
above?

A) I 			   B) II		
C) III			   D) IV
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5. Read the dialogue and choose the best option.

RebeccaRebecca
        Lisa        Lisa

 - - - -?

 - - - -?

It sounds cool. - - - -?

I watched a science fiction film on TV with 
my brother.

It was about funny time travel of two friends. 
We had so much fun.

At nine in the evening. You should watch it too.

Which of the following questions does Rebecca NOT ask Lisa?

A) What was the film about
B) What did you do last night
C) What time did it start
D) What did you watch next

6. Read the dialogue and choose the best option.

Learning new things about wildlife 
and history is fascinating.

I never miss live concerts 
and music shows.

Testing my knowledge and answering 
the question is enjoyable for me.

I enjoy watching daily events 
in my country and the world.

PaulPaul

KellyKelly

HelenHelen

JasonJason

A)

C)

B)

D)

Which of the following is Kelly’s TV show preference?

7. Josh asks 100 students in his school what kind of TV 
    programs they prefer to watch. Here are the results:
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Which of the following is correct according to the chart abo-
ve?

A) Boys prefer watching talk shows to documentaries.
B) Girls are more interested in watching quiz shows than boys.
C) Boys like quiz shows most.
D) Watching sitcoms is more popular for boys than girls.
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10. Read the text and choose the best option.

Which of the following can be Harry’s message?

A) How about coming Julia’s birthday party? It will be at my home.
B) Julia will be 19 on Saturday. She has a party at Blue Café. 
     Shall we go?
C) Julia and I are planning a surprise party. All of you are invited!
D) Can you help me with Julia’s surprise party decorations?
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8. Read the conversation and choose the best option.

TomTom

TomTom

TomTom

       Mary       Mary

Are you busy tomorrow evening, 
Mary?

We are planning a farewell party 
for Katy at Daisy Café. She is moving 
to a new city next week. Why don’t you 
join us at 6 p.m. and say goodbye to 
her?

OK. I’ll pick you up. Get ready 
at 5.45 p.m. 

No. Why are you asking?

       Mary       Mary
- - - -

Which of the following does NOT complete the conversation 
above?

A) That is a good idea. Why not?
B) I’d like to join you, but I can’t.
C) I love Katy. I can’t refuse this.
D) That would be nice. 

9. Here are the pictures from the photo album of Catherine:

Which of the following sentences does NOT match with 
one of the pictures above?

A) Catherine graduated from the university five years ago.
B) Catherine wore a princess costume at a fancy dress party.
C) Catherine celebrated her new age.
D) Catherine married Peter last year.

Harry wants to organize a surprise 
party for Julia’s birthday on Saturday. 
He sends messages to his friends to 
get help with the preparations.


